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EEh 2 b T¥ih £ ik

Frmh 0.3 0.3 1.8 0.4

(0.0 (A0.4) (1.2) (0.0)

X 0.6 AO0.1 0.9 0.5

(0.4) (A0.5) (0.0) (0.2)

X 0.7 038 1.7 0.9
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PRX 1.0 0.9 ~ 0.9

(0.6) (0.0) (0.3)

TR 1.1 _ 2.6 1.3

0.7) (1.8) (0.9)

MER A04 A0.9 ~ A05

(A0.7) (A1.2) (A0.8)
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(A1.4) (A2.7) (A1.8)
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(1) fEEH (BAL: H/nt, %)
[=hva R4 X FTFEH R3FAMAE | RAFEMAS | Z@hE
1 g —10 FRX |BEE2THTEG 81,200| 83,800 3.2
1 Ho—15 X [#E)IR1ITE170%24T#8)1151—9—5 90,000 92,900 3.2
2 g —11 FRX |4 THSO0E3S 4 —7—8) 103,000| 106,000 2.9
3 HF—16 X [NEARTIT B204%6 [/NEA1—5—18) 71,900 73,900 2.8
4 L —3 TLFAX  |Mabtrpe 5 TH3 52 1 %5 MBBihRks —10—10) 20,400] 20,900 2.5
(2) paZE (B [M/nt, %)
JEAE 4 X FT{EHE RGEAME | RAGEAIIHE | &R
1 5 —13 mRX [FRR2TH1997%F%1 THk2—3—6] 288,000( 300,000 4.2
2 5 —18 X RSk 1T H4363%6 MM tHskE1—10—3] 110,000| 114,000 3.6
3 g5 —8 X RIS TH600F7H TKILU3—2—11] 208,000( 214,000 2.9
3 H5—19 e | RIB@3 TH85 6% 14 I RB®E3—1—-15] | 105,000| 108,000 2.9
4 Fg5—5 R | HROTRAT 7 3% 14 THRGMRAT9 —1 1) 117,000| 120,000 2.6
4 Ak BALARA R
(1) {E=H# (B [M/nt, %)
JEAE 4 X FT{EHE RGEAMHE | RAGEAIIHE | &R
1 Hi—6 gL |HRORHART 5 5 4 % 170,000| 169,000| AO0.6
2 g —8 X |KBEHT2 THS8O08%F1 7 164,000| 164,000 0.0
3 Ho—4 X [JERRT 1 T H 5% 1 131,000| 132,000 0.8
4 o —14 PR (481 TH70% 51 —9—6 125,000| 126,000 0.8
5 e —1 PRX  |BRBEFIT2 TH11 1% 122,000] 123,000 0.8
(2) paZE (B [M/nt, %)
JEAE 4 X FT{EHE RGEAMFE | RAGEAIIHE | &R
1 Hge5—2 PoX |RKE1TH25%4 A1 —2—-30] 540,000( 540,000 0.0
2 a5 —13 hfx | HfR2TH1997%1 (Hk2—3—6 288,000 300,000 4.2
3 5 —15 X [RU3THS72%24 kL3 —1—5 3] 283,000[ 288,000 1.8
4 Hges—1 X |ETE 6 FET9 7 3% 344 252,000| 248,000 A1.6
5 5 —14 X |fERT2 0 6 9% 225,000| 223,000] A0.9




